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1. BRI, BEER R3.4.18i1E
5 31 8% 0D et [(EE=S 900,000
Al & 750,000 M
HEER 700,000 M
N 460,000
mlRRE 400,000
= 370,000 M
Tk B Dkt — AT B 15 324,000 M
B 307,600 M
WMTAE  (— AT EUR)
E#k& 188,700 M
itk 165,900
Witk 154,900
HISE ZMEEL 1,960 A BLE#L 1,858 A
itk B D AF I Y LA 43.75%
(AT ER) 18~27% 59 A 9.5%
28~ 395% 138 A 22.3%
40~4Tr% 187 A 30.2%
48~597% 215 A 34.8%
605% 2L L 20 A 3.2%
i 619 A 100.0%
2. TEE# R3.4.15i1E
iz SRMIEH BB %
TRFEEHR 690 681
BRFB R 7 7
WAL BFER 4 4
HEEBDFEGIR 58 57
HERAS CPRZ OMATRE) 295 268
BEZBRFER 6 6
Jrbr ¥ 900 835
=t 1,960 1,858

X BEBIIBRREFOME Z RN TWET,
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OF&H

1. SHI3EEFHE AU TFE
< A> (BfL - FH. %)
5 aFN 3 Eff a2 Ef% - - AR L
Epie ! Epie R3 | R2

il Bi| 16,079,903 16,595,022 A 515,119 A 3.1| 31.0| 30.9
w5 E 5 B 422, 000 448, 000 A 26,000 A 5.8 0.8 0.8
o7 E R & 16, 000 16, 000 0 0.0 0.0 0.0
[T = I b I 64, 000 47, 000 17,000 36. 2 0.1 0.1
MR 20 R i A I A AT & 44, 000 29, 000 15, 000 51.7 0.1 0.1
=N FE B LN & 176, 000 84, 000 92, 000 109.5 0.3 0.2
o5 E ML & 2, 480, 000 2, 480, 000 0 0.0 4.8 4.6
BB MR R R & 49, 000 40, 000 9, 000 22.5 0.1 0.1
SEE TR S 1 [ A b 488, 000 112, 000 376, 000 335.7 0.9 0.2
#o 5 & A Bl 13,200,000 13,500,000 A 300,000 A 2.2 25.5| 25.1
AR 00 2 4 kF R R I AZ 15, 000 17, 000 A 2,000 A 11.8 0.0 0.0
o L G O N ~ W £ 261, 741 265, 704 A 3,963 A 1.5 0.5 0.5
i B & Y F OB 241, 486 299, 662 A 538,176 A 19.4 0.5 0.6
X M & 6, 806, 322 6, 528, 722 277, 600 4.3 13.1] 12.2
Ik 53 i & 3, 858, 461 3, 814, 889 43,572 1.1 7.4 7.1
5] JE I A 345, 888 252, 405 93, 483 37.0 0.7 0.5
7 Bt & 100, 000 80, 300 19, 700 24.5 0.2 0.1
i A 4 2,391, 488 3,289,416 A 897,928| A 27.3 4.6 6. 1
i ik & 50, 000 50, 000 0 0.0 0.1 0.1
I A 1,188,511 792, 080 396, 431 50. 0 2.3 1.5
i} 18 3,522, 200 4,958, 800| A 1,436,600 A 29.0 6.8 9.2

A GRT 51, 800, 000 53,700,000 A 1,900,000 A 3.5| 100.0[ 100.0
<Kk > (B : FH. %)

5 SF0 3 ﬁffﬁ SFn 2 Ef% 8 - AL
ERJlinie-1 LT R3 | R2

S 2 # 269, 770 265, 250 4, 520 1.7 0.5 0.5
N % #H 5, 415, 699 5, 280, 547 135, 152 2.6 10.5 9.8
B A #| 20,210,781 19,996, 801 213, 980 1.1 39.0[ 37.2
fh s % 4,851,192 7,112, 337| A 2,261,145| A 31.8 4 13.2
5 18 # 21, 855 22,918 A 1,063 A 4.6 0 0.0
B K E ¥ #H 2, 185, 777 2,221, 655 A 353878 A 1.6 .2 4.1
7 T # 812, 964 712, 543 100, 421 14. 1 1.6 1.3
+ A & 5,623, 891 5, 169, 365 454, 526 8.8 10.9 9.6
] 193} # 2, 165, 840 2,572,730 A 406,890 A 15.8 4.2 4.8
# H & 5, 581, 484 5, 106, 486 474, 998 9.3 10.8 9.5
N i # 4,510, 747 5,189, 368| A 678,621| A 13.1 8.7 9.7
¥ fid 7 150, 000 50, 000 100, 000 200. 0 0.3 0.1

AR 51,800, 000 53,700,000 A 1,900,000 A 3.5 100.0[ 100.0
XEHEIE, THENUBEAL T DO TIHRBICE W THERH EIZEHE LRV b O H Y £,
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2. SMISHEE RETRIFHE
(B4 FH. %)
- s B0 3AELEE | AN 2 4R R T [ R M
BT BT R3 | R2
— fix = #| 51,800,000| 53,700, 000] A 1,900,000 A 3.5 49.2[ 49.0
B B PR BR % B &= FH 10,994, 000| 10,633, 000 361, 000 3.4 10.4] 9.7
[E] B B HE 10 B 5 1) 22 51 (122 1 E) 162, 000 181,000 A 19,000/ A 10.5 0.2 0.2
% W1 & o =0 OR DR ORF I 2= BF| 1,457,000 1,447, 000 10, 000 0.7 1.4 1.3
g i R B R Bl & FH 11,872,000] 11,997,000 A 125,000 A 1.0] 11.3] 11.0
w R & B2 E IR & R 40, 000 43, 000 A 3,000 A 7.0 0.0l 0.0
B3R WK B K O3 R B & FH 1,320,000 1,342,000 A 22,0000 A 1.6 1.3 1.2
¥oooBl = B & BH 25,845,000 25,643,000 202, 000 0.8 24.5| 23.4
g % A Hﬂ%&é’aﬂﬂi 17,180,000 17,260,000 A 80,000 A 0.5( 16.3[ 15.8
TR R X | 1,806,360  4,225,992| A 2,419,632| A 57.3 1.7 3.9
2N R fE p 2[R B9 I 509, 000 507, 000 2,000 0.4f 0.5 0.5
*OXR R g km 10, 804 3,224 7,580 235.1 0.0 0.0
N T ok E|IAR AU 3| 3,769,005 3,813,222 A 44,217 A 1.2  3.6] 3.5
% R Ay ok x| 4,443,662 4,387,717 55, 945 1.3 4.2 4.0
®~ ¥ &= F & G 27,718,831 30,197, 155| A 2,478,324| A 8.2| 26.3| 27.6
b & At 105, 363, 831] 109, 540, 155| A 4,176, 324| A 3.8| 100.0| 100.0
3. SHMBFEEFE mHEOAEKR
N7 = R 1 A4~ 1 a2 72
X & él?glﬂ%ﬁ)‘%g mli, 4}4\4j (Rg. 4(.[?)) 46,1%32112% ?RS.(T )1> et (%)
(i Bil 16,079,903 138, 091 344, 523 100.0
mom A ROB 6,211,279 53, 341 133, 081 38.6
1E Al 5,482,169 47, 080 117, 459 34. 1
% A 729, 110 6, 261 15, 622 4.5
& PE Bi| 7,987,256 68, 593 171, 132 49. 7
' B Bl 7,974,641 68, 485 170, 862 49. 6
A i & 12, 615 108 270 0.1
OB ® = OF 439, 209 3,772 9,410 2.7
o= E o B 700, 108 6,012 15, 000 4.4
A & B 32, 414 278 694 0.2
1L TS TR 7 709, 637 6, 094 15, 204 4.4
Kttt ThHENMBIAL TH LD THREICEBWTEF EIFEHLRNLORSH Y £,
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OFZF

EFEANLBEREY (FH3E3A1BERE)

FEEEX B 5 S A &
FIHEX |[REREFLS<V V22— (1 5%) 1,281 1, 470 2,751
53HEX (AR 993 1,158 2,151
04 BEEX | BT 989 1,131 2,120
55X | Rk (=) 1, 046 1,214 2, 260
HeEX | BEOHE WHE=R) 1,634 1, 668 3, 302
0TREX | RIENEHTFVER—L (KFE) 1,282 1, 299 2, 581
58 FEEX. BT SR A A 919 1,021 1,940
FOKEX |JRERE (EE=E) 1,828 1,759 3, 587
%1 0OFEX (JLEratE 358 410 768
11 REX |E AR A 656 682 1,338
1 2HEEX (NoHSE (8% 961 912 1,873
1 3HERX (Wi)laa=F Bt 2 — (G- KBRHE ) 852 844 1, 696
1 AWEX (MR EL S VX —(ZHMF—/LVB) 510 514 1,024
#1 5HEX | LS 624 637 1, 261
F1HREX |HREELS VX — (ZHMEK—L) 7217 754 1,481
17T REX /N BT AE 712 744 1, 456
W1 SHER | RN TEY L H— 1,033 966 1,999
Bl OBEX | KAZITaIa=T 42X — 938 889 1,827
B2 OREX [NEEHS3K VU Z— (ZAKF—IL) 1, 388 1, 467 2, 855
B2 1 HEX |EHT AR 834 833 1, 667
F22H/EX |TRAHE 2 — (bShdHnik—L) 1, 363 1, 470 2,833
92 3HTERX | (RiEYs) 519 564 1,083
F2AREX |WEAELS VL F— (F—) 595 694 1,289
552 b IEX (SHT 2 E 261 277 538
F2OREX (MEEHLI< V¥ — (FEE) 508 584 1, 092
B2 7 REX E A RS 1,081 1, 099 2,180
2 8 WEX R i3 841 880 1,721
B2 9FEX | KIEARE 294 309 603
3 OREX | “HARE 237 261 498
B3 1 HREX Hr - HaE 306 305 611
FEI2H/HEX | LREEHI VBV X — 256 295 551
753 3TN |THEAE A A 264 281 545
3 ABREX EHREASRE 513 523 1,036
93 DIEX [HIEFASE 181 214 395
F3OHEX [FTEHEL S VX — 278 301 579
B3 8WHEX | FEHEFL S X — 487 589 1,076
B4 O REX | AR 245 255 500
B4 1 REX (B O 344 363 707
B4 2 WEX (EEFASE 275 287 562
54 3WHEX [N\ EHARE 485 493 978
B4 4 RERX LS 163 176 339
B4 b REX [HIRARE 334 371 705
FAGREAX (EKHhala=T 1y — 372 414 786
B4 THREX [HLEINWEA—L 302 313 615
B4 8WEX (fSHEMNERE ¥ — 325 340 665
B4 9PHEX | FINARARE 193 237 430
%5 O WEX [ Kikfg 267 287 554
5 1 HEX |FEikRA R 199 231 430
B52BREX (JIEaa=T 0¥ — (JLHEAH) 329 382 711
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%5 3EX |H % HEST 265 231 496
F5AKREX [[BEEH S V& — 336 365 701
%55 5 R |JRARREIEAR 296 345 641
%5 6 FEX B 259 270 529
%5 THREX | KIESFT 147 177 324
5 HEEK [Biala=T ¥ — 357 388 745
%5 9RIEX [ K HHETSAR 153 166 319
%6 0 %X [HrERTEE T 154 169 323
%6 1K | L HEEET 144 164 308
56 2 WX /A TR B RS HE 274 273 547
56 3WEX (R LA ORSEE 71 75 146
H6 4HEX (ONEY (LA EE 188 182 370
%6 5 REX (AfaatE 175 182 357
%6 6 FEX [EARMH 122 117 239
56 7RI (K5 M R 112 114 226
F6 SHEEX [/NEARKE 173 191 364
H6 9REX (WikEb3< vk ¥ — KE 670 712 1, 382
BT OHEX |J\H AR 193 209 402
571 RERX | SEET 132 159 291
07 2 WEX (IR 521 547 1,068
597 3WEX [MEEILARAR 114 122 236
7 ABREX G A RAE 129 128 257
97 5 WX | A E AN AE 162 151 313
B 7 6 REEX | RNRAR 154 185 339
BT TRERX |EARNER (1 BERE) 698 736 1,434
97 8EERX |EmHANER (KREHE) 1, 546 1, 609 3, 155
7 9OBERX | WWRFVNFR (KER) 1,058 1,103 2, 161
B8 OFERX L/ NER (IREEE) 572 633 1, 205
B8 1 HEX |EFSNHWEE 41 58 99
8 2HEENX |bA LR 134 169 303
H 8 6 IWEX |G 191 209 400
98 7 HEX |IEB RS EET 161 182 343
98 8HEX | AEAH 46 40 86
98 9 EX /MU 35 46 81
FOOHRERX |Z0b LBEZ EbE (=) 718 802 1,520
9 1REX (KAt & — 440 485 925
B9 2 EX (REEST 364 369 733
B9 3WEX |HEHBEST 61 60 121
59 4 WEX [ THEE 161 178 339
B9 b REX (KREEST 132 138 270
B9 7T REX (WEILEST 98 120 218
B9 8 WEX |HEEST 54 57 111
99 9 WEX JLAm it =T 61 60 121
B0 O WEX REBEEST 63 68 131
%10 1 FHEX|REmmE w2 — 197 246 443
B0 2 BEEX | FRAEIEM L RE o # — 217 255 472
%1 0 3FEX | E DR SAE 143 130 273
B 10 4 BEEX| T PHEESTT 39 39 78
F1O5HREXR | A I a=T 4BV X— 141 155 296
B 10 8 EX | SUEEDIRSE 32 38 70
10 9REX|EHLL HIESTT 57 69 126
B 1 O EEX | HEENT 224 272 496
111 EREX AR EORSAR 87 97 184
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Bl 2 BEX N EORSHE 61 62 123
H1 1 4 BREX R OB 14 24 38
B 11 5 WEEX (R NEESTT 10 17 27
B 11 6 BEEEIX (M X A BUAR 174 185 359
Bl 7 BEEX (LU 53 46 99
511 8 WEEX (B 39 43 82
Bl 1 9REX|EHEPAERSGEE X — 63 71 134
12 O REX R 123 147 270
12 1 REX (| EETFAE 66 66 132
12 2 REX (A HAH 51 58 109
1 2 3 BEEEX | R R 36 46 82
12 AREX|SREAEFREE X — 117 117 234
551 2 5 BEEEK | TR M X A BAR 321 349 670
1 2 6 BEEEIXK (T XA RAE 43 67 110
12 S REX |\ HEARE 104 120 224
12 9 REX (1L HEA R 37 44 81
%1 3 O WEX /ML HE 35 37 72
551 3 1 FZEX| L FTHIIX 2 RAR 80 95 175
%1 3 2WEX | AEEUEY X — 35 55 90
W13 3RER|EEENL—= T H— 140 146 286
%1 3 4 WEEX R LSEE 41 40 81

= 7t 46, 097 49, 047 95, 144
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